Name: Date:

Spring Three-Digit Addition Check-in

Answer Sheet with Decomposition Method

Problem Work Space Answer
200+100=300 Y
_ e 30
1.202 + 138 = 00 o 340
2+ 8=10 340
o 500
2.310+234= |°002000 40
10+30=40 - ot
U 54
600
3.673+56 = 600+0=600 120
70+50=120 v 9 729
3629 729
600
B 500+100=600 60
4.544 + 123 = o - 667
'4+3=7 667
500
H00+100=500 90
2.460 + 132 = 60+30=90 + 00 59?2
0+2=2 092
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Name:

Spring Three-Digit Addition Check-in

Answer Sheet with Decomposition Method

Date:

Problem Work Space Answer

700+100=800 o
_ U 60

6.748+121= | ... 1 - 869
8+1=9 s
600
500+100=600 30
LA 635
400
200+200=400 20

8.274 + 203 = . o 477
3=/ 177
600
400+200=600 60

9.438 + 236 = 30+30=60 1y 67%
8+6=14 674
900
800+100=900 10

10.810 + 108 = 10+0=10 8 918
0+8-8 918
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